[

FC

ight FCI. e/
\ _/ GomrantFel \ _/ \ _/ \ _/
1 | 2 FCICOnneCt.COIII 3 | 4

20020008—XXXXXXXLF

~0020008—

I

—

PITCH
C: 3.50 mm
D: 3.81 mm
G: 5.00 mm
H: 5.08 mm
PROPERTY TABLE
FCI SERIES NAME | 02—-350 02-381 | 02-500 02-508
PITCH (mm) 3.50 3.81 5.00 5.08
VOLTAGE RATING (VAC) 300 300 300 300
CURRENT RATING (A) 8 8 12 12
1-WRE | 16~28 16~28 12~24 12~24
A APPLICABLE WIRE RANGE (AWG) > WIRE 20 20 18 18
1-WRE 1.5 1.5 2.5 2.5
WIRE CROSS SECTION SOLID 2—-WRE 0.5 0.5 1.0 1.0
2 1-WRE 1.5 1.5 2.5 2.5
(m) STRANDED 2-WRE| 0.75 0.75 1.5 1.5
OPENING CONTACT HOUSING(mm?) | 2.8x1.7 | 2.8x1.7 | 2.6x3.3 2.6x3.3
WIRE STRIP LENGTH(mm) 67 67 67 67
TORQUE +/-10% (N-m/Lb—in) | 0.19/1.7 [0.19/1.7 [ 0.4/35 | 0.4/35
SCREW | M2x0.4 M2x0.4 M3x0.5 M3x0.5
WITHSTANDING VOLTAGE (kV) 1.6 1.6 1.6 1.6
OPERATING TEMP. ('C) [-40~+115[—40~+115|—40~+115| —40~+115
POLES AVAILABLE 02~24 02~24 02~24 02~24
SAFETY CERTIFICATE BB s BB us

B

POLES LF: DENOTED RoHS COMPATIBLE
0% 2POLES —— 1 : STANDARD PRODUCT
03: 3 POLES
04, 2 POLES W/ BOX PACKING

| SCREW CODE
| CODE |  SCREW TYPE AVAILABILTY
24: 24 POLES A |-/+| @ | onRequesToNLY
B | - | 6 STANDARD
HOUSING CODE
CODE [ COLOR AVAILABILTY
1| GREEN(RAL 6018/T)[  STANDARD
2 BLACK ON REQUEST ONLY
3 | GREY(RAL 7004/P) | ON REQUEST ONLY
NOTES: 4 | BLUE(RAL 5015/A) | ON REQUEST ONLY

1.

MATERIALS
1—1 HOUSING: THERMALPLASTIC RESIN, UL 94V—-0 RATED,
1—2 SCREW: STEEL, ZINC PLATED.

1-3 CLAMP: COPPER ALLOY, NICKEL PLATED.

1—4 TERMINAL: COPPER ALLOY, TIN PLATED.

2. PRODUCT SPECIFICATION REFER TO FCI GS—12—-625.
3. PRODUCT PACKING SPECIFICATION REFER TO FClI GS—14—1394.
4. FCl, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN
ON PRODUCT SURFACE.
5. THE PRODUCTS WHERE THE PART NUMBER END IN “LF” MEET THE
EUROPEAN UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS
DESCRIBED IN GS—22—-008.
mat’l. code surface tolerance [projection |product family
ASME Y14.5\/ ASME Y14.5 TERMINAL BLOCK
Itr |ecn no|dr |date tolerances unless otherwise speciﬁed@_g title
A |pGoe-0203] BF | 062509 5] X.£0.5 MM
5 [Too—14s] &r | 111700 |°" 9N & xxz0.3 [INCH] TERMINAL BLOCK ]
C [T09-1152 BF | 112609 | X't1°[™)  X.XX+0.1 scale Pluggable plug, hook entry side
D |T0-0042| W_ | 030310 |dr BEER FU 062509 a dwg no sheet 1 of 5 |[size
E |T10-0082| WL | 080510 |engr| BEER FU 062509 Fc
F |T0-0172| WL | 102010 |chr | GARY HSIEH | 062509 ‘__y)' 20020008 A4
lappd| JOSEPH HSIA | 062509 type CUSTOMER Drawing
sheet |revision| F [ F| F[F | F
index |sheet 11213]14(5

I form: AdmmXLc 1

PDM: Rev:F 3 1 statusReleased  printed: Oct 27, 2010 4




[

A
( \ Copyright FCI. ( \ F\_c.//) ( \ ( \
/ s i /
1 2 FClconnect.com | 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020008—CXXXXXXLF| 02—350 3.50 mm
(AAANAMADLTA
J ‘QJ\\QJ I X
] [
/]
Dim A 10.4
[0.409]
G
— ‘ N = Number of poles
ny 02.8x1.7 o Dim A=Nx3.5[0.138]
NI YT YW/XYTY [ ] E:E: HOUISNG Dim B=(N—1)x3.5[0.138]
0.110x0.067 5 : :
:EE: SCREW TOL. Dim A | Dim B
A B 2-6p | +0.15[0.006]
M3 rj rj rT rj FT 5 7-12p | +0.20[0.008]
23 ' +0.25[0.010]
— 13—-18 . .
S| B Mol o P
o) 19-24p :I:O.30|:0.01 2]
O ©
0 (\J TERMINAL
2,
i i ! ! ) HOUSING
1.75 350 'O SEC G=GC
[0.069] [0.138] _
- 2p to 6p with wedge,above7p
Dim B | without wedge(including 7p) matl. code surface \/tolerqnce projection |product family
ASME Y14.5 ASME Y14.5 TERMINAL BLOCK
Itr |ecn no|dr |date tolerances unless otherwise speciﬁed@_g title
a angled 8 XX)';%Z D:,A(?H] TERMINAL BLOCK
YET = X.;(X i(;. 1 scale Pluggable plug, hook entry side
dr BEER FU 062509 a dwg no sheet 2 of 5 [size
062509
iﬂf' Gf:IYERH;IlIJEH 062509 Fg_/)' 20020008 A4
lappd[ JOSEPH HSIA | 062509 type CUSTOMER Drawing
B sheet |[revision
index |sheet
I form: AdmmXL 1 2 I PDM: Rev:F 3 | statusReleased  Pprinted: Oct 27, 2010 4




A
| o -~ FY Y ~
\_ opmemTE, \_ \_ \_
11 2 FClconnect.com 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020008—DXXXXXXLF 02—-381 3.81 mm
(AN AN LN
XJ XJ K J XJ
] |
/]
i 10.4
Dim A [0.409] SCREW N = Number of poles
: Dim A=Nx3.81[0.150]
G CLAMP Dim B=(N—1)x3.81[0.150]
TOL. |Dim A| Dim B
U ” U ” A ”‘\\“Y/ ” U D28X17 —II::'OYOYO}}Y
K] | X3 — 1+0.15/0.006
[0.110%0.067] = l 2-6p [0.006]
A ||‘ HOUSING 7—12p| +0.20[0.008]
— A ousio 13-18p | £0.25[0.010]
S0 u 88 19—24p| +0.30[0.012]
- . KX V77774 57|
o
©o ©
o N
2,
SEC G—=G
1.91
[0.075] 2p to 6p with wedge,above7p
i i i t'l. cod fi tol jecti duct famil
without Wedge(mdUdmg 7P) Mot eoce i:h:EiniS\/ AzMeEr?r?f: projection |preduct famiy TERMINAL BLOCK
Itr |ecn no|dr |date tolerances unless otherwise speciﬁed@_g title
F S X.£0.5 MM
angles S xxx0.3 [INCH] | TERMINAL BLOCK
Xt - X.XXZ0.1 scale Pluggable plug, hook entry side
dr | BEER FU 062509 a dwg no sheet 3 of 5 [size
BEER FU 062509
engr| B Fu__{ 0025 Fg) 20020008 A4
lappd| JOSEPH HSIA [ 062509 type CUSTOMER Drawing
B sheet |[revision
index |sheet
I form: AdmmXL 1] 2 I PDM: Rev:F 3 | statusReleased  Pprinted: Oct 27, 2010 4




I A
( /\ Copyright FCI. ( ) F\_c-//) ( /\ ( )
~ N~ ~ ~
1] 2 FClconnect.com | 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020008—GXXXXXXLF|  02—500 5.00 mm
i
|
Vo Va7 Vo7 V07
\ %9 %J}}Vé// \%9)
IIII
12.6
Dim A [0.496] N = Number of poles
c SCREW Dim A=Nx5.0[0.197]
-— OUSING Dim B=(N=1)x5.0[0.197]
L_// — B TOL. Dim A | Dim B
N
/ s CLAWP 2-6p | +0.15[0.006]
o ~
A\ A7 \ A A\ ":" TERMINAL 7—1 2p :t025[OO1 O:l
—| ™2 13—18p| +0.30[0.012]
A | [ © N Mo HOUSING
\ ~ @ — 19—24p| +0.40[0.016]
LI
I —
i 6
| | I—
L 417
o [0.19]
55 2.6
. 0.102
[0.098] Dim B [ ] SECTION G=G
mat’l. code surface tolerance [projection |product family
ASME Y14.5\/ ASME Y14.5 TERMINAL BLOCK
Itr |ecn no|dr |date tolerances unless otherwise speciﬁed@_g title
a angled 8 XX)';%Z D:,A(?H] TERMINAL BLOCK
YET = X.;(X :I:(.).1 scale Pluggable plug, hook entry side
dr | BEER FU 062509 a dwg no sheet 4 of 5 [size
cht [ ot sl | oez505 FS__Q' 20020008 As
lappd| JOSEPH HSIA | 062509 type CUSTOMER Drawing
B sheet |[revision
index |sheet
I form: AdmmXL 1 2 I PDM: Rev:F 3 | statusReleased  Pprinted: Oct 27, 2010 4




I A
g \ opyri B \\ Fc . \ - \\
(\ Y, Copyright FCI. (\ Y, \_-7) (\ y, (\ Y,
1] 2 FClconnect.com 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020008—HXXXXXXLF | 02-508 5.08 mm
2.8 3 82
X X J
7/ 12.6
Dim A [0.496]
G SCREW N = Number of poles
Dim A=Nx5.08[0.200]
—7/ T HOUSING Dim B=(N—1)x5.08[0.200]
‘ // o P,'D) CLAMP TOL. |Dim A | DimB
o ~ L
- 2, 2-6p | +0.15[0.006]
T M ~ T — TERMINAL
| by M 7-12p | +0.25[0.010]
= U ' o3| "8 HOUSING 13—18p| £0.30[0.012]
A —
a: =) A 19—24p| +0.40[0.016]
i
©S,
|
G<—| 4.7
054 26 [0.19]
’ [0.102]
[0.100] Dim B Section G—G
5.08
[0.200]
-';o_l- [OL- M mat’l. code surface tolerance |projection |product family
= ASME Y14.5\/ ASME Y14.5 TERMINAL BLOCK
1 S 7 | | 1 Itr |ecn no|dr |date tolerances unless otherwise speciﬂed@_g title
F S X.£0.5 MM
angleq o)
@8@ B@ XET = ;( ;():(t :031 SC(EII':CH] ;IEIEJ'QIEQE gh%?fwok entry side
dr | BEER FU 062509 a dwg no sheet 5 of 5 [size
=/ = ettt FC) 0020008
B lappd| JOSEPH HSIA | 062509 type CUSTOMER Drawing
sheet |[revision

index [sheet
I form: Admm.e 1 2 I PDM: Rev:F 3 | statusReleased  Pprinted: Oct 27, 2010 4




